Q

iR1600/2000

210-1

FlGURE 210 READER ASSEMBLY

iR2000/2010F

501

9/

L2
Sy
S

AB/INCH SIZE

%/ (J976)

(PS116)
(3975)
o 27

Q\usoe)
27A

22

10

(PSllS)g
| °F (3972)
1 ,

25 (J404)

COPYRIGHT(©)2002 CANON INC.

iR2000/2010F

26
(3974)\ > /6 A
z\%

(PSL115)

3 o

| [@psi1ay (9805
9 \9

AB/INCH SIZE

CANON iR1600/2000/1610F/2010F REV.0 APR. 2002



FIGURE R | Q
& PART NUMBER Q T DESCRIPTION SERIAL NUMBER / REMARKS
KEY NO. K | Y
210 - NPN RF| READER ASSEMBLY
1 FB6-1305-000 2| PLATE, GLASS
2 FB6-1324-000 2| SPRING, COMPRESSION
3 FB6-1325-000 1| HOLDER, BELT
4 FB6-1329-000 2| GUIDE, CS
5 FB6-1340-000 1| SUPPORT, GLASS, RIGHT
6 FF6-1742-000 1| GLASS, READER
7 FF6-1727-000 1| GLASS, COPYBOARD A SIZE
FF6-1728-000 1| GLASS, COPYBOARD AB/INCH SIZE
FF6-1729-000 1| GLASS, COPYBOARD A/INCH SIZE
7A FB6-1239-000 1| PLATE, WIDTH INDEX A SIZE
FB6-1240-000 1| PLATE, WIDTH INDEX AB/INCH SIZE
FB6-1241-000 1| PLATE, WIDTH INDEX A/INCH SIZE
7B FB6-1236-000 1| PLATE, LENGTH INDEX A SIZE
FB6-1237-000 1| PLATE, LENGTH INDEX AB/INCH SIZE
FB6-1238-000 1| PLATE, LENGTH INDEX A/INCH SIZE
8 FF6-1759-000 1| CABLE, FLAT J401,930
9 FH7-7569-000 2| DOCUMENT SIZE SENSOR UNIT IR2000/2010F A SIZE
PS114,116 J973,975
FH7-7569-000 4| DOCUMENT SIZE SENSOR UNIT IR2000/2010F
AB/INCH SIZE
PS114-117 J973-976
FH7-7569-000 3| DOCUMENT SIZE SENSOR UNIT IR2000/2010F
A/INCH SIZE
10 WG8-5362-000 1| IC, TLP1241, PHOTO-INTERRUPTER PS113 J972
11 XF9-0728-000 1| BELT, TIMING
12 FB6-1357-000 2| PULLEY, IDLER
13 FB6-1358-000 2| FLANGE
14 FB6-1320-000 1| SPRING, TENSION
15 FB6-1321-000 1| PULLEY, TENSION
16 FB6-1313-000 1| PULLEY, 24T/41T
17 FB6-1316-000 1| SPRING, TENSION
18 FB6-1339-000 1| FLANGE

COPYRIGHT(©)2002 CANON INC.

CANON iR1600/2000/1610F/2010F REV.0 APR. 2002

210-2



FIGURE R 1 Q
& PART NUMBER Q T DESCRIPTION SERIAL NUMBER / REMARKS
KEY NO. K | Y
210 - 19 FH6-1948-000 1| MOTOR, STEPPING, DC M103 J313
20 XF9-0355-000 1| BELT, TIMING
21 FG6-8259-000 1| CARRIAGE UNIT
22 FG6-8261-000 1| ANALOG PROCESSOR PCB ASSEMBLY IR1600/2000
23 FG6-8359-000 1| CS UNIT
23A FB6-1323-000 2| SPACER
24 FG6-8360-000 1| MOUNT, JUMP
25 FG6-8458-000 1| CABLE, HOME POSITION SENSOR J404,972
26 FG6-8462-000 1| CABLE, DOCUMENT SIZE, FRONT IR2000/2010F
AB/INCH SIZE
J805,973,974
FG6-9160-000 1| CABLE, DOCUMENT SIZE, FRONT IR2000/2010F A SIZE
J805,973,974
FG6-9353-000 1| CABLE, DOCUMENT SIZE, FRONT IR2000/2010F
A/INCH SIZE
J815,974
26A VS1-6492-006 1| CONNECTOR, SNAP TIGHT IR2000/2010F A SIZE
J805
27 FG6-8463-000 1| CABLE, DOCUMENT SIZE, REAR IR2000/2010F
AB/INCH SIZE
J806,975,976
FG6-9161-000 1| CABLE, DOCUMENT SIZE, REAR IR2000/2010F A SIZE
J806,975,976
27A VS1-6492-006 1| CONNECTOR, SNAP TIGHT IR2000/2010F A SIZE
J806
28 FB6-2077-000 1| SCREW,STEPPED,M4
501 XB1-2300-407 AR | SCREW,MACH., TRUSS HEAD,M3X4
502 XD2-1100-502 4| RING,E
503 XB6-7300-607 1| SCREW,TP,M3X6
504 XB6-7300-407 2| SCREW,TP,M3X4

210-3

COPYRIGHT(©)2002 CANON INC.

CANON iR1600/2000/1610F/2010F REV.0 APR. 2002



	iR1600/2000/1610F/2010F PARTS CATALOG
	iR1600/2000/ 1610F/2010F
	210 READER ASSEMBLY



